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1. Which inequality is equivalent to 7. Which ordered pair is not a solution of

=Sx+4< —-2x+77 5x + 4y < —127

A x<1 ® x=21 @ (1, -5) ® (-2,4)

i x€~1 M x&~1 © (-4,0 @ (—3,-8)
2. You are at a used book sale. Softcovers are 8. Choose the inequality whose solution is

$0.75 each and hardcovers are $1.50 each. If shown in the graph.

you have $6 to spend and you buy four soft- )

covers, how many hardcovers can you buy? . .y | |

@ 0 ® 1 | 2 5

© 2 @ 3 | 4
3. Which inequality represents the statement “x L8 ’ gl 3 7

is less than 5 and is at least —5?” //

® -5<x<5 52 nks - 4EEE

L —5<¢x<5 D —-55x<5 i

4. Solve —23 < 3x — 2 < 13.
@& -T7<x<5 ® -F<x«<
© —-T7<x<5
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@A 3y—4dx24 ® 4x— 3
© 3y—4x<4
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In question 9, choose the statement
below that is true about the given num-
bers.

5. Which graph represents the solution of
6x —4 = 14 or3x + 10 < 4?
CA> The number in column A is greater.

| | | | I |
(& FEERTEEY : iE (B> The number in column B is greater.
(€ The two numbers are equal.
B e et (D> The relationship cannot be determined
5-4-3-2-10123 45 from the given information.
© T 9. Column A Column B
-5-4-3-2-1 0 123 4 5
mean of 28, 16, 22, | mean of 24, 10, 24,
) A . 13, 26 30, 17
-5-4-3-2-1 0123 4 5
@& ® © €»)
3
6. Solve |8x + 2| — 4 = 18, 2.
®
@& 3and —2 ® —2and -3 s
®
© —3and3 @ —3and2 2
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1. Which inequality is equivalent to
“Sx+4< -2x+ 77

@& x<1 ® «x
© x< —1 D x
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2. You are at a used book sale. Softcovers are
$0.75 each and hardcovers are $1.50 each. If
you have $6 to spend and you buy four soft-
covers, how many hardcovers can you buy?

@ 0 ® 1
© 2 @ 3

3. Which inequality represents the statement “x
is less than 5 and is at least —57”

@A —-5<x<5 —~5 £ x<)
© -5<x<5 D —-5<x<5
4. Solve —23 < 3x — 2 < 13.

® -T7sx<5 ® -F<x<¥
© -7<x<5 @ -F<xsi

5. Which graph represents the solution of
6x —4 = 14 o0or3x + 10 < 47

B o
-5-4-3-2-1 01 2 3 4 5
B O
—-5-4-3-2-1 01 23 45
o
~5—4-3-2-1 01 2 3 4 5
®

=5=4=0-2=T 0 1 23 4 5

6. Solve |8x + 2| — 4 = 18.
A 3and -2 —2 and -3
© —3and3 @ —3and2
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7. Which ordered pair is not a solution of
S5x + 4y < —12?
@ (1, -5) ® (—2,4)
© (—4,0) D™ (-3, -8)

8. Choose the inequality whose solution is
shown in the graph.
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=3 |1 1 3 o
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@A 3y—4x24 @ 4x-—-3y=24
© 3y—-4x<4 @D 4x—-3y<4

In question 9, choose the statement
below that is true about the given num-
bers.

CA> The number in column A is greater.

(B>The number in column B is greater.

(C>The two numbers are equal.

(D> The relationship cannot be determined
from the given information.

9. Column A Column B
mean of 28, 16, 22, | mean of 24, 10, 24,
13 26 30, 17
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